SoLvnogds Date

Name

Review Problems For Test 2 MP 1
d=wvt Vi= Vi + at d=vt+(1/2)at®

1) A car is travelling at a constant speed of 70 m/s. How many hours will it take for the car to
travel 2500 kilometers? There are 1000 m for every kilometer.
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2) A train is initially moving at 45 m/s. Itaccelerates at a rate of (-) 1.2 m/s? for 10s. W hat is its
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What was the initial speed of the train in miles per hour (mph)?
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6) An object had an average speed of 124 m/s. Its initial speed was 40 m/s. What was its final

speed? "
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\ person is 40 m above a point where a truck will soon be. The person would like to drop a
sackage onto the truck. If the truck is 120 m away and moving at 15 m/s, how long should the
» wait before dropping the package? Show all of your work for credit. Use one decimal
e calculations
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